Difficulties with the Ran

a. intrinsic - how can hanaah manage kavvanat hamitzvah?
b. textual - why do we care what the passuk is re shofar, or matzah for that matter?

c. Rashi - the analogy is to shogeig!
d. Why is he a mitasek if he fails?
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Set up contradiction in Rambam (1-3)

Quote source 4, which seems to intensify contradiction by connecting issues

But source 5 contradicts conclusion of source 4 re shofar, so Rambam merely mirrors gemara
Ran explains that machloket sugyot and we hold like the tzrichuta in 4

But his explanation of the tzrehuta seems problematic - how can hanaah create hanaat hamitzvah?
But Ran didn’t make this up - came from Rashi.

. could try to eliminate mitasek, so no need for hanaah but special shofar problem - but against Rashi
and Ran himself

8. Could try to eliminate kavvanat hamitzvah, but against Rambam

9. So distinguish on essential grounds - action vs. speech

10. But how justify this? R. Chaim on essential vs accidental

11. Use to explain why hava amina that shofar leshir is mitasek
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